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Uotinp (Scales)

UJhUwU ntup ybg dttnwnwnpud® hwdwnpwywdws 1-hg 6 pdtpny: Lw ghwnh, np
pninn JGunnwnwnpwdutph pw2tpp nwpptp Gu: Lw gwulywunwd £ nwuwynpGp npwup
puwn hptlug pw2h: Hw hwdwp Lw untnét) £ Unp nhwh Udwpwynp Y2tnp:

UJwlnwywl bdwpwynp YGnpu nLup Gpyne Udwn: Uyn Yptinphg oqinybint hwdwp
JnLpupwUs jnep bdwphu JElwywt JGinwnwnpwd GU nunud b wywngned, 6 Upwlghg
npu £ wdbh dwn:

UJdhuwjh unp Ypbnpl wybih pwpn E: WU ntuh snpu bdwp, npnup bpdwé tu 4, B, C
U D wnwntpny: Yw Wtnph snpu mwpptp Ywpgwynpned, npnughg jnipwpwlg jniph
nGwpend YwnptGh £ unwlw] JGinwnwnpwdutph JdGpwptpjw J64y hwpgh
Wwwnwufuwl: Y2tnpl oguinwagnnpédtihu wnwehu Gptp Ywpgwynpnudutbph nGwpnid
UWhuwl whwnp E shoin dehulwl dsnwnwnpwd wnenwnph A, B u C udwputph
dpw, huy snppnpn Ywpgwynpdwu nbwpnud” Lwb shon Uty dstnwnwpnwd D Udwph
Unw:

Wn snpu ywpgwdnpnwdubph dhgngnd Ywpbih £ unwuw hGinljw snpu hwpgtph
wwwnwufuwuubpp.

1. A, B u C udwnubph ypw npywé detnwnwnpwdutphg n°plu £ wdtbwswupp:

2. A, B u C udwputph dpw npdwé dbinwnuwnpwdltphg n°nl b wdblwpbplun:

3. A, B u C udwputph dpw npdwé dbinwnuwnpwdltphg n°nl £ dhehup: (Uhshu
wubnd wjuntn hwuywunwd Gup wju dGunwnwnpwdp, npp Gptphg ns
wdtlwoéwunu £, n’s £ wdGUwpbpUp):

4. A, B u C udwnutph ypw npywé dbtnwnwnpwdlbphg nhinwpytlp dhwju
Upwlp, npnup wydbih dwup Gu, pwl D udwph Jpw npdwé Wpnwpwnp: et
Ywl wjnwhuh dGinwnwnpwdutbp, n°nu £ Upwughg wdblbwptrlUp: Jwlwnwy
ntwend, wjuhlpl, trb wjnwhuh Ustnwnwnpwdutp sbwu, 4, Bu C
udwnutphu npjwé Ubinwnwnpwdltphg n°pu £ wdtuwpbrlUp:

tuunhn

Antp Spwahn, npp Ynwuwynph Whtuwjh ytg dGinwnwnpwdutbnl pun hptug pwzh:
Spwahpp Ywpnn £ JGnwnwnpwdutph pw2tph yGpwptpjw) hwpgnuwdutbp wub)
UdhUwjh YtinphU® dGnwnwnpwdubph Yhnutpp hwdtdwunbine hwdwnp: 2Gn
épwanphu updtu Jh pwuh pGuntn, npnughg jnupuipwus jnipp yhwdwwwwnwufuwlh
Jtg dGuinwnwnpwdubph dh Unp pwqunipjwl:

atin pwagnnud wbwnp E hpwywluwgywé |hutu init U orderCoins $nLuyghwltpp:

UJELU wlquwd aGp dpwghplu w2fuwwnwgutinig gnbntpp Lwfu 6han UGy wugwd

Yywlsh init $nLuyghwl: Uyl dbq Yunw ptuntph pwlwyp W huwpwdnpnepnll®
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Ywuwnwptbl thnthnfuwwuuGph uygpuwndtpwynpnid: Hwlhg htinn gpGyntpp
JnLpwpwls jnep phunh hwdwp Yywugh ordercoins () $nuyghwl:

m init(T)
= T: Spwagph Ywuwnwpdwl pupwgpnid inpynn ptuntph pwluwyp: T-U
1,...,18 whpnypht ywwnlwunn wdpnng phy E:
= Uju $nLuyghwt nshus sh yGpwnwpduncd:
B orderCoins ()

= Uju $ncuyghwt jnipwpwits jnin pGunh hwdwn Yuwugyned £ 8hounn UG
wluquwu:

= Uyu $ncuyghwl whinp £ nwuwynph Udhuwjh Ynwpwnbpp oginwgnpsétiny
gptyntph htinlyw| $nLulyghwlbpp’ getHeaviest (), getLightest (),
getMedian () U getNextLightest ():

® 3GUg np $nLuyghwl wwpgh JGnwnwnpwdubph shan Ywpgp, bw wbunp £
wjn dwuhU hwnnpnh gntjnwphl answer () $ncuyghwjh dhengny:

® answer () $nLuyghwl YwlstinLg hGinn ordercCoins () $nLuyghwl wbwnp £
wdwnwnyh: Uju nghus sh ypwnwnpduncd:

nLp &6p Spwgpnud Ywpnn Gp oguinwgnnét gnbintph hGinlyw $ncuyghwutnp.

® answer (W) — &Gp Spwahpp whwnp £ oguinwgnpédh wju $ncuyghwul guinudwé
Wwuwnwufuwup gptynbphu hwnnpntine hwdwp:

= w: 6 Gpywpnipywl quugyws, npp wwpnibwynd £ JGimwnwnpwdubph
Sh2uin nwuwynpnpynLlup: wiol-hg wis]1-nud wbwnp £ wwhi

Jinwnwnpwdltph hwdwnutpp (wjupupl, 1-hg 6 pUt)
JGinwnwnpwdJdutph pw2tph wddwl Ywpgny:

= 36p Spwahpp whnp E Ywlgh wju $ncuyghwt Jhwjlu orderCoins ()
$nLlyghwh Utpuncd, jnupuwpwls jnep pGunh hwdwp dhon JGY wuquid:
= Uju $nLuyghwt yGpwnwpaéh wpdtp sncuh:

B getHeaviest (A, B, C), getLightest(A, B, C), getMedian(A, B, C) —
upwlp hwdwwwunwufuwunwd GU Udhuwjh Uptnph 1, 2 L 3 uwpqwynpnudutphl:

= B A, Bu C udwputpht npdwé dbinwnwnpwdubph hwdwputpp: 2-
U, B-U b c-U wytwp E |huGU gnuyqg wn gnuyg hpwphg twnpptp wdpnng pYGp°
1-hg U 6-p Ubpwnjw:

m Lpdwdé $nLuyghwlbpp yGpwnwnpdunwd Gu 2, B L ¢ pytiphg Utyp
hwJdwwwunwufuwl JGnwnwnpuwdh hwdwnpp: Ophuwl, getHeaviest (A,

B, C) $nLluyghwl yGpwnwpduncd £ Gptp JGinwnwnpwdutphg dtdwanjup
hwdwnp:

B getNextLightest (A, B, C, D) — uw hwdwwwwwufuwunwd £ Udhuh Uotnph 4-
nn Jupgqwydnpdwp:

= 2 B, ¢, D. JwdwwwwnwufuwUwpwn 4, B, C' u D udwpubphu npué
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Jbtnwnwnpwdltph hwdwputpp: 2-U, 3-U, c-U b >-U whwnp £ hutl 1-hg 6
nhpnuphl wwwnlwunn hpwphg tiwpptn wdpnng pytn:

= Uyu $ncuyghwl yGpwnwnpdunwd £ 2, B b ¢ pYbphg UGUD™ Y2tnph
ghnpéwédwl 4-pn jwpgwynpdwl nbwypnd puinpdwé JGinwnwnpwdh
hwdwpnp: Ujuhupl, tet A, B U C udwpubph Upw npdwé
Jtinwnwnpwdutiph Jdte ywu D udwph ypw npwé dbnmwnuwnpwuhg swup
JGinwnwnpwdJutn, yGpwnwpdunwd £ nphwlghg wdtlbwptpUh hwdwpp:
Grbt wjnuwhuh Uanwnuwnpwd s4w, wwpquwtu ypwnwpsunwd £ A, B u
C udwputph Upw npdwé dbinwnwnpwdlbphg phrpUwagnuuh hwdwpp:

Uhwdnplutp

Wu futnpnud Gupwfiuunhputn sywu: atn épwghpp Jhwynp Yunnwuw Yuuwéd
Upwlhg, G pwlUh wluqwd Yzrnd Yywuwnwnph (wjupupl, pwuh wugwd Yywush
getLightest (), getHeaviest (), getMedian () U/JwU getNextLightest ()
$nLuyghwubpp):

atn épwaghpp Yw2fuwwnwgyh Uh pwuh wugwd, jncpwpwUs jnp wuqwd npnwyh
Pwlwynipjwdp ptuntph Ypw: hgntp, 7-p gnujg £ iwihu, pE 46p dpwghpp pwuh
wlgwd E w2fuwwnwagytby: Uyu phdp $hpudwé £ pbunwjhb ingywiutpnud: Brb abp
énwahnpu wdtu wugwd w2fuwwnwgltinig ginudh gnut JGY ptuwn, nph nGwpnud
6pwahpp ufuw ynwuwdnph JGnwnwnpwdutpp yupdh 0 Jhwydnp: wlwnwy
nGwpnid Jhwynph hw2dwpyp yuwunwpdnd £ hGinljw Yepw.

hgnLp, @-U Udhuwjh bztnph uhgngny gwliywgws Ybg tnwpptin UbtnwnwnpwdJutph
hwenpnwywunce)ntt upqwynptine hwdwnp Jhuhdwy Ygrnudutbph pwuwyu E:
ruunhpl wybth nddwp nwpdutine hwdwn Jeup wjuntn stup pwgwhwjnnd Q-h
wndtpp:

Cupwnptup punhwupwwbtu pninp RGuntph Ypw d6p dpwughplu w2fuwwnwgubinig
Jwpuhdw Yzrnudutph pwlwlyp @ + y £, npuntin y-p wdpnng phy E: Ujn nbwpnid
nhuinwpyGup a6n dpwagph JGY gnpdwnynud: HYhgnep wju wuquwd dpwaghpp
w2fuwwnwgyty £ 7' phuntph ypw, U npwlghg dwpuhdw) Gernidubph pwlwyn

Q@ + x £, npintin z-p ng pwgwulwl wdpnng phy E: (Epb nnLp pninp phuntpnid
uwuwwpnud Bp @-hg phs LznnudUtp, www z = 0): Uyn nbwpencd dpwanh wju

100
gnpdwnyuw hwdwp Yunpgh N(@ty)/5:1) Uhwynp, Yinpwgnwé nbwh Lbnpl

(z+y)
unnpwytinhg htwinn Gpyne Uhony:

Uwulwynpwwbu, Grt d6n dpwghpp wdbl wuqwd w2fuwwnwgubinig jnupuipwls jnup
pGunh hwdwn Yuwwph wnwybiwgniup @ Wencd, nnip Yuinnwlwp 100 Jhwynp:

Onphuwy

Cupwnnptup JGunnwnwnpwdutpu punn pw2tph wddwl Ywngh nwuwynpdwé Gu
htinlywy Yepw. 346215

$Sniuyghwjh |dGpwnwpédnn

Juug wndtip PwgwunpnLp)nLl
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bnLuyghwjh

JdGpwnwpaynn

6)

yuws wndtip PwgwuwpnLp)nLlu
getMedian(4, 5, | 6-pn, Utinwnwnpwup 4-pn, 5-pn U 6-pn
6) JGunwnwnpwdutphg dhghul E:
getHeaviest(3, 1, 1 1-hU UGnwnwnpwdp 1-hu, 2-pn U 3-nn
2) JGunwnwnpwdutphg wdtbwséwupu E:
2-nn, 3-pn U 4-pn JGlnwnwnpwdutpp are all
getNextLightest(2, 3 lighter than coin 5-pn UGthwnwnpwuhg ptpl G,
3,4,5) hGinlwpwn yGpwnwpayncd £ Upwlghg
wdtlwptRrup (3-nnp):
getNextlightest(1, | ¢ 1-U U 6-pn JGnwnwnpwdutpu wybih dwup G,
6, 3, 4) pwl 4-nnp: Lpwlghg ptrUp 6-pnU E:
getHeaviest(3, 5, | 5-nn Ubinwnwnpwdp 3-nn, 9-nn U 6-pn
6) JGinwnwnpwdJdutphg wdtuwéwupu E:
getMedian(1, 5, |4 1-U Jnwnwypwdp 1-hu, 5-pn b 6-pn
6) JGunnwnwnpwdutphg dhghul E:
getMedian(2, 4, | 6-pn JGtnwnwnpwup 2-pn, 4-pn U 6-pn

JGunnwnwnpwdutphg dhghul E:

answer([3, 4, 6,
2,1, 5])

Spwahpu wju pGunh hwdwnp qunwy dhown
wwwnwufuwl:

Sample grader

The sample grader reads input in the following format:

m Jine 1: T' —- the number of test cases

m each of the lines from 2 to IT' + 1: a sequence of 6 distinct numbers from 1 to 6:
the order of the coins from the lightest to the heaviest.

For instance, an input that consists of two test cases where the coins are ordered
123456 and 346215 looks as follows:

w =N

23456
4 6215

The sample grader prints the array that was passed as a parameter to the answer ()

function.
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